
Base de données Northwind

Algèbre
(1) πFirstName,LastName,Address,City,Region(Employees)

(2) πFirstName,LastName,CompanyName(Employees ∗Orders ∗ σCity=‘Bruxelles’(Customers)
∗ShipVia=ShipperID(πShipperId(σCompanyName=‘Speedy Express’(Shippers))) )

(3) πTitle,FirstName,LastName(Employees ∗Orders ∗ [Order Details]∗
σProductName=‘Gravad Lax’∨ProductName=‘Mishi Kobe Niku’(Products) )

(4) πTitle,LastName,TitleSup,LastNameSup(Employees∗ReportsTo=EmployeeID

ρTitleSup←Title,LastNameSup←LastName(Employees))

(5) πCompanyName,ProductName,SupplierName(σCity=‘London’(Customers) ∗Orders∗
[Order Details] ∗ Products ∗ ρSupplierName←CompanyName(
σCompanyName=‘Pavlova, Ltd.’∨CompanyName=‘Karkki Oy’(Suppliers)) )

(6) πProductName(σCity=‘London’(Employees) ∗Orders ∗ [Order Details] ∗ Products)
∪

πProductName(σCity=‘London’(Customers) ∗Orders ∗ [Order Details] ∗ Products)

(7) (a) πFirstName,LastName(Employees 1BirthDate<BirthDate πBirthDate(σCity=‘London’(Employees)) )

(b) πFirstName,LastName(Employees) −
πFirstName,LastName(Employees 1BirthDate≥BirthDate πBirthDate(σCity=‘London’(Employees)) )

Autre solution: Solution a) divisée par les employés de Londres.

πFirstName,LastName(Employees 1BirthDate<BirthDate πBirthDate(σCity=‘London’(Employees)))÷
πEmployeeID(σCity=‘London’(Employees)))

(8) πFirstName,LastName(Employees) −
πFirstName,LastName(Employees 1HireDate≥HireDate πHireDate(σCity=‘London’(Employees)) )

(9) πLastName,City(Employees ∗Orders ∗ πCustomerID,City(Customers)) )

(10) πCompanyName(Customers ∗ (πCustomerID(Customers)− πCustomerID(Orders) )

(11) πCompanyName,ProductID(Customers ∗Orders ∗ [Order Details])÷ πProductID(Products)

Autre solution

πCompanyName,ProductID(Customers∗
( πCompanyID,ProductID(Orders ∗ [Order Details])÷ πProductID(Products) )

(12) πProductName,EmployeeID(Orders ∗ [Order Details] ∗ Products)÷ πEmployeeID(Employees)

(13) πCustomerID,CompanyName,ProductID(σCustomerID6=‘LAZYK’(Orders) ∗Orders ∗ [Order Details])÷
πProductID(σCustomerID=‘LAZYK’(Orders) ∗ [Order Details])

(14) (πCustomerID,CompanyName,ProductID(σCustomerID6=‘LAZYK’(Orders) ∗Orders ∗ [Order Details])÷
πProductID(σCustomerId=‘LAZYK’(Orders) ∗ [Order Details]) ) −

(πCustomerID,CompanyName(Customers ∗Orders ∗ [Order Details])∗
(πProductID(Products)− πProductID(σCustomerId=‘LAZYK’(Orders) ∗ [Order Details])) )
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